
 

cg';"rL–% 
j8fj6f ;+rfng ul/g] of]hgfx? 

 
j8f g+= !, 3f]8fufFp, /f]Nkf 

1. cfly{s ljsf; 

qm ;+ cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg cg'dflgt nfut 

1 e]6]/]g/Lsf] ;fdfu|L tyf cf}iflw vl/b of]hgf j8f sfo{no 150,000 

2 3f]8fsf]6 b]lj dlGb/ dd{t of]hgf 3f]8fsf]6 100,000 

hDdf 250,000 

 

2. ;fdflhs ljsf; 

qm ;+ cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg cg'dflgt nfut 

1 x]=kf]=df Nofj ;~rfng of]hgf x]= kf]= 200,000 

2 u+uf k|f= lj= lkmN8 dd{t of]hgf k+rLsf]6 100,000 

3 
5'jf5't tyf e]befj Go'lgs/0f ;DalGw 
hgr]tgf d"ns sfo{qmd of]hgf 

j8f :t/ 150,000 

4 hgPstf k|f= lj= lkmN8 dd{t of]hgf a/g]6f 200,000 

5 /fd]Zj/L k|f=lj= df tf/af/ of]hgf  /fd]Zj/L k|f=lj= zfvf 200,000 

6 cf/g ;'wf/ tflnd sfo{qmd j8f :t/ 100,000 

hDdf 950,000 

 
3. k"jf{wf/ ljsf; 

qm ;+ cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg cg'dflgt nfut 

1 wf/fjf+ª l;rfO{ s'nf] dd{t of]hgf enjfª 300,000 

2 enjfª vf= kf= of]hgf enjfª 300,000 

3 vfg]kfgL kfOk vl/b of]hgf 
k+rLsf]6, n]v, ;]/kf6f, 
vf88fF8f 

500,000 

4 k]lbkLkn cf]jfª l9sk'/ df]=af=dd{t of]hgf cf]jfª 200,000 

5 j8f :t/sf ;Dk"0f af6f] ;kmf ug]{ of]hgf j8f :t/ 910,000 

6 uGwj{ a:tL df]6/af6f] of]hgf uGwj{ a:tL 150,000 

7 y'DkfsL n]v pnL{vf]nf df]=af= of]hgf y'DkfsL  100,000 

8 t';f/kfgL a/8Ff8f df]=af= of]hgf k'/fgf] t';f/kfgL  200,000 

9 ;Ldvf]nf df]=af= of]hgf l;dvf]nf 150,000 

10 r'sfcfk emfFu|Lvf]nf ;/+wf/f df]=af= of]hgf ;fljs j8f g+ $ 100,000 

11 3f]8fufpF pnLvf]nf vf=kf= dd{t of]hgf 
3f8fufpF ;ljs j8f g+= ! 
b]lv $ ;Dd 

2,000,000 



 

12 x]=kf]= /+u/f]ug of]hgf x]= kf]= 100,000 

13 b]ljeQm cf= lj= y'DkfsL ejg dd{t of]hgf y'DkfsL  200,000 

14 a/fx:yfg ;f= d= ejg lgdf{0f of]hgf kw]/fvf]nf 250,000 

15 k"0f{ ;/;kmfO{ ;Dalw sfo{qmd j8f :t/ 130,000 

16 emfu|Lvf]nf ;]/kf6f s'nf] dd{t of]hgf ;]/kf6f 150,000 

hDdf 5,740,000 

 

4. jftfj/0f tyf ljkb Joj:yfkg 

qm ;+ cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg cg'dflgt nfut 

1 ljkb Joj:yfkg sf]if  j8f :t/ 100,000 

2 snªvf]nf / em]k/vf]nf Uofljg hfnL of]hgf snªvf]nf / uf]nafª 100,000 

3 pkNnf] s'jf d'xfg dd{t of]hgf 3f]8fsf]6 100,000 

4 
n]s l/he{ 6+sL 3]/faf/ tyf d'xfg 8\ofd agfpg] 
of]hgf 

k+rLsf]6 100,000 

hDdf 400,000 

 

5. ;+:yfut ljsf;  ;]jf k|efx / ;'zf;g 

qm ;+ cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg cg'dflgt nfut 

1 j8f sfof{nosf nflu ;fdfu|L vl/b j8f sfof{no 100,000 

2 j8f sfof{nosf nflu kmgL{r/ tyf sDKo'6/ vl/b j8f sfof{no 300,000 

3 
j8f sfof{nodf g]6 h8fg tyf gful/s j8fkq 
n]vg of]hgf 

j8f sfof{no 100,000 

4 kbflwsf/L÷sd{rf/LnfO{ cled'lvs/0f tflnd j8f :t/ 100,000 

5 ;fj{hlgs ;'g'jfO{ sfo{qmd j8f :t/ 60,000 

hDdf 660,000 

;a} hDdf j8f g+ ! 8,000,000 

 
 

 




